LERIr YA RE—X

N
i
o

w
0]

5 &

6.EBMITTSIA 42X

~

oo

F470EETHREAET XS

[L¥a5—-18)

AN
=]

/

K 7

5

EBMRLDEHFKRIST

HIHIHFEIFA2—X

JAY

’%15@[5%135(5)”

TRIB0FEE

$£2HHI[5A19H(1)] |

A—1(9:30)
N E — X
A—1(9:30)
Ay h — X
A—2(11:20)
5 3 v X
A—3(13:30)
> 4 — X
A—3(13:10)
A—2(11:20)
B—1(9:30)

zH A Y 5 TR

L¥215—1% —HB 5A138(H) dXMISF A-BE

m | EEfE — 84 =24 EX —5 _%E =%
A—1| 930|zpurovaroz28—X| EE/E/IN\VE—X GK |F53>X| GK [FS53UX
A—2]| 1120 gK7Ovh—X | &£EgFSTUX =9 E/& =5 BE/E8
A—3| 1310 EBNUH—X |4E95T544 X EVE | HIHE| HOE | HIHE
B—1| 930|485l EaHm%ks57|HIrBI744—X| BB 957 55 9257
L¥a15—1% =—HH 58198 (L) dJdtXFEFEKiE AME

m | EEfE — 24 =24 e — & _E =%
A—1] 930 1-2ME 3-4iE HINE| BIFE | V57 | BEE
A—2| 11:20 5-6E 7-8B%E F532X|  GK B/8 | BEX
A—3| 1330] A-1EBE A2 EME | BHIE | A-1BE | B |A-2KE

MEAEHERSDINENESDAN—2AIRTF)



F47RIEBTHRABT RS

THB0FE

[S2=7-28] #18B[58138(A)] | H2BBI5A198(1)] |
JE/ &S5 NYE —XJ
B—2(11:20)
J26KJAayh—XJ
B—1(9:30)
B HITHIHEI7459—XJ
B—3(12:40)
JAaE By F 5 02 X J
B—3(13:00)
J5. ERJIrov AV ARE—XJ
B—4(14:00)
Jo. AR AV EHFEKISTTJ
B—2(10:50)
JI.9 5 7 544 v X J
= ¥ B Y B TX
oa=—72& —HBA 5A138(A) 4dX#I>F BE
m | BEhE — =1 =21 IFE — & = =E
B—2| 11:20|E/&/\>E—XJ| GKTOvH—RJ |HTHEI| STV RI|HT MBI FSTU XY
B—3| 1240|592 BI7744—XJ| £EARSTUXJ | 45T | EBHJ | 45TJ | EHEJ
B—4| 14.00[E5Jr v 1 R8—XJ| EMBELEHHISTI| B/EJ | GKJ | BB/BJ | GKJ
oaz=72% —HH 5198 (x) 4t XF0¥FEki5 BmE
m | BERE — =1 =3 IE — & —_&E =E
B—1| 930 J1-J2&E J3-JAfE =0J | BELEJ | 'E0EJ | 450U
B—2| 1050 J5-J6HEE 9575472 GKJ | B/EJ |53V RI| BT EJ
B—3| 13:.00) B—1i&lE | B—23 &8s |B—18&[(B—2M&E(B—1KE|B—2KE

MEAEHERSDINENESDAN—S2AINTF)




